¥ CARRYBOY'

The Name of Quality and Design SPORT LID FULL BOX

INSTALLATION ISUZU D-MAX RT-50 D/CAB
1/2
INSTALLATION PARTS Jg E i N
d
2
Lock latch bracket - % %
kwick klampsus 2 set. e Gas strut 2 pcs. Kwick klamp S4 4 pcs. 6 Kwick klamp s5 2 pcs. QP'aS“C k"gcgcg_'amp covel
@ ( -
o Gasrasg(u;tnzwo;gst'ing Hee;%texﬁpzign% :grew e Washer 8 pcs. @ Rubber truck edge m Full box logo R/L
\ /
INSTALLATION TOOLS - 0\
Drill 4.5 mm.
e Drill® 45 mm. e Screw driver 6 Measuring tape ),

e Rubber truck edge

NANNTLDIAVINIUDDUNIEVENDURAA ﬁﬂﬂ']\i‘iﬂ\‘]‘ﬂﬂﬂﬂitutuuﬁﬂﬂit‘ut

Clean all around truck edge. Place the rubber truck edge on the truck.

4 Persons e Full box

e

Require h o

TAGAUY Tre/a70 Tﬁwaﬁﬁugnnﬁ:uz

Arrange for suitable position

38msfnse adnuaan S4
How to install kwick klamp S4
I HOLE SAW CUT _ LINNER LOWER
| e e Bnsfiaay Adnuaany S5
_—t |
- A v Y o . I *<1-'@20 How to install kwick klamp S5
HAAINLARNLINVNG 4 ANLLALY | '
. ) HOLE saw @20 |
Klamp 4 positons of kwick klamp. | )
\_ N _ _ - J
C-132449E

4/9/2013



WV CARRYBOY'

The Name of Quality and Design
INSTALLATION

CB-762 IRD-P-M
SPORT-LID-FULL BOX

ISUZU D-MAX RT-50 D/CAB

2/2

(g .
e Gas strut mounting pracket.

@
a o

Anseududayldalagianzgipnona i 4.5 au. S1uau 2 § Baspang M5X20 s,
Drill 4.5 mm.dimeter. Fit the brackets with M5x20 mm. screw then tighten the
\bolts with the upper body as a picture above

o Lock latch bracket kwick klamp \ )

TOP_VIEW

o
<

ﬁmmuﬂu%ﬂﬁmﬁ'@ﬂimﬂLm:gﬁmmanmm 45 1y, 91U 4 § Haspang M5X20 ua.
After marking the lock latch bracket,drill the bed body with 4.5 mm. dimeter

in each place then fit the lock lactch bracket with M5x20 mm. screw

/

Lock latch bracket kwick klamp

VSugasoadne/ann Tigalsm3den 2 dan

\Adjust the latch R/L to suppont the rotary lock from the lid.

/
0 Check all around full box

* CAUTION ,
\_ Tighten bolts, nuts, screws and lubricant parts every 5,000 km.

C-132449E
4/9/2013



